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1 1 101 HEBY 7 1 120.5 | ¥z 13934
2 1 102 HEBY 7 1 [120.39 | £ 14034




3 1 103 HEBY 7 1 [120.39 | fE=E 14134
4 1 104 HEBY 7 1 |142.98 | fF= 14290
5 1 201 HE B 7 2 1124.91 | fF= 13561
6 1 202 HEBY 7 2 |124.91 | =% 13661
7 1 203 HEBY 7 2 |124.91| ¢ 13761
8 1 204 HEBY 7 2 |145.81 | = 13861
9 1 301 HEBY 7 3 |124.91 | fF=x 13761
10 1 302 HEBY 7 3 [124.91 | =% 13861
1 1 303 HEBY 7 3 [124.91 | g 13961
12 1 304 HEBY 7 3 |145.81 | 1= 14061
13 1 401 HE BY 7 4 [124.91 | 1F=x 13961
14 1 402 HEBY 7 4 (124.91 | fr=E 14061
15 1 403 HEBY 7 4 (124.91 | =g 14161
16 1 404 HEBY 7 4 |145.81 | ¢ 14261
17 1 501 HEBY 7 5 [124.91| ¢ 14161
18 1 502 HEBY 7 5 [124.91| =% 14261
19 1 503 HE BY 7 5 [124.91 | fF= 14361
20 1 504 HEBY 7 5 |[145.81 | fiE 14461
21 1 601 HEBY 7 6 |124.91 | fI=x 14161
22 1 602 HEBY 7 6 [124.91| ¢ 14261
23 2 101 HE B 8 1 |143.78 | fF=x 14892
24 2 102 HEHT 8 1 |143.78 | k=% 14533
25 2 103 HE BY 8 1 |143.78 | fi=E 14488
26 2 104 HEBY 8 1 |143.78 | fE= 14733
27 2 201 HEBY 8 2 |144.39 | fI=x 13840
28 2 202 HEBY 8 2 (144.39 | =% 13690
29 2 203 HEBY 8 2 [144.39 | {1 13770
30 2 204 HE 5 8 2 [144.39 | 1F=x 13890
31 2 301 HE BY 8 3 [144.39 | = 14040
32 2 302 HEBY 8 3 [144.39 | ¢ 13890
33 2 303 HEBY 8 3 |144.39 | fI=x 13970
34 2 304 HEBY 8 3 [144.39 | fr=x 14090
35 2 401 HEBY 8 4 |144.39 | {1 14240
36 2 402 HEHT 8 4 |144.39 | fr=E 14090
37 2 403 HE BY 8 4 [144.39 | ¥z 14170
38 2 404 HEBY 8 4 (144.39 | ¢ 14290
39 2 501 HEBY 8 5 |144.39 | fI=x 14440
40 2 502 HEBY 8 5 [144.39| fF=% 14290
41 2 503 HEBY 8 5 |144.39 | fi=E 14370
42 2 504 HEHT 8 5 |144.39 | fi=E 14490
43 2 601 HE BY 8 6-7 |[216.5 | {F=E 15907




44 2 602 HEBY 8 6-7 |216.5 | fEE 15757
45 2 603 HEBY 8 6-7 |216.5 | fE=x 15837
46 2 604 FEHT 8 6-7 |216.5 | fEE 15957
47 4 101 HE 5 7 1 |122.35| fE=x 13696
48 4 102 HE BY 7 1 |122.25| &= 13996
49 4 103 HEBY 7 1 |122.25 | k= 14096
50 4 104 HEBY 7 1 |144.76 | fiE 14323
51 4 201 HEBY 7 2 |124.54 | g 13111
52 4 202 HEBY 7 2 |124.54 | g 13411
53 4 203 HEBY 7 2 |124.54 | =% 13511
54 4 204 HEBY 7 2 |145.38 | fi=E 13611
55 4 301 HEBY 7 3 |124.54 | fE=E 13411
56 4 302 HEBY 7 3 |124.54 | fF=x 13611
57 4 303 HEBY 7 3 |124.54 | = 13711
58 4 304 HEBY 7 3 |145.38 | fi=E 13811
59 4 401 HEBY 7 4 |124.54 | ¢ 13711
60 4 402 HE BY 7 4 [124.54 | 1F=x 13811
61 4 403 HEBY 7 4 |124.54 | frE 13911
62 4 404 HEBY 7 4 |145.38 | fI=x 14011
63 4 501 HEBY 7 5 [124.54 | ¢ 13911
64 4 502 HEBY 7 5 [124.54 | g 14011
65 4 503 HEBY 7 5 [124.54| 3¢ 14111
66 4 504 HE BY 7 5 |145.38 | fF= 14211
67 4 601 HEBY 7 6 [124.54| g 13911
68 4 602 HEBY 7 6 |124.54 | fI=x 14011
69 4 603 HEBY 7 6 |124.54| =% 14111
70 4 604 HEBY 7 6 |[145.38 | fI=E 14211
71 5 101 HEBY 9 1 |144.75 | fF= 14145
72 5 102 HE BY 9 1 |122.34 | fi=E 13828
73 5 103 HEBY 9 1 |122.34 | fE= 13828
74 5 104 HEBY 9 1 |144.75 | fi=E 14195
75 5 201 HEBY 9 2 |145.36 | % 13516
76 5 202 HE B 9 2 |124.53 | fF= 13366
77 5 203 HE 5 9 2 [124.53 | fF=x 13366
78 5 204 HE BY 9 2 [145.36 | 1F=x 13566
79 5 301 HEBY 9 3 [145.36 | frE 13716
80 5 302 HEBY 9 3 |124.53 | fI=x 13566
81 5 303 HEBY 9 3 [124.53 | k=% 13566
82 5 304 HE B 9 3 |145.36 | fix 13766
83 5 401 HEBY 9 4 |145.36 | fFE 13916
84 5 402 HE BY 9 4 [124.53 | ¥z 13766




85 5 403 HEBY 9 4 |124.53 | fF=x 13766
86 5 404 HEBY 9 4 |145.36 | fF=x 13966
87 5 501 HEBY 9 5 [145.36 | g 14116
88 5 502 HE 5 9 5 [124.53 | fF= 13966
89 5 503 HE BY 9 5 [124.53 | 1= 13966
90 5 504 HEBY 9 5 [145.36 | f1E 14166
91 5 601 HEBY 9 6 |145.36 | fI= 14316
92 5 602 HEBY 9 6 [124.53| =% 14166
93 5 603 HEBY 9 6 [124.53| g 14166
94 5 604 HEHT 9 6 |[145.36 | fI=E 14366
95 5 701 HE BY 9 7-8 [217.97 | fF= 15783
96 5 702 HEBY 9 7-8 [183.71 | fEE 15633
97 5 703 HEBY 9 7-8 |183.71| = 15633
o8 5 704 HEBY 9 7-8 [217.97 | fEE 15833
99 6 101 HE BY 9 1 |151.22| fE= 14644
100 | 6 102 HEHT 9 1 |151.22 | fE=x 14544
101 6 103 HE BY 9 1 |151.22| &= 14594
102 | 6 104 HEBY 9 1 |151.22 | fE= 14794
103 | 6 201 HEBY 9 2 |163.36 | fI=x 13892
104 | 6 202 HEBY 9 2 [163.36| % 13792
105 | 6 203 HEBY 9 2 |163.36 | fI=E 13842
106 | 6 204 HEBY 9 2 [163.36 | fIE 14042
107 6 301 HE BY 9 3 1163.36 | 1= 14092
108 | 6 302 HEBY 9 3 [163.36| {1 13992
109 | 6 303 HEBY 9 3 1163.36 | % 14042
110 | 6 304 HEBY 9 3 [163.36| 1% 14242
111 6 401 HE B 9 4 1163.36 | = 14292
112 | 6 402 HEBY 9 4 [163.36 | {1 14192
113 | 6 403 HEBY 9 4 [163.36 | fIE 14242
114 | 6 404 HEBY 9 4 [163.36 | fiE 14442
115 | 6 501 HEBY 9 5 1163.36| fIx 14492
116 | 6 502 HEBY 9 5 [163.36| 1% 14392
117 | 6 503 HEBY 9 5 |163.36 | {iE 14442
118 | 6 504 HEBY 9 5 |[163.36| {1 14642
119 6 601 HE BY 9 6 [163.36 | 1Fx 14692
120 | 6 602 HEBY 9 6 [163.36| fiE 14592
121 | 6 603 HEBY 9 6 |163.36| fIx 14642
122 | 6 604 HEBY 9 6 [163.36| 1F% 14842
123 | 6 701 HEBY 9 7-8 [221.93| fFxE 16159
124 | 6 702 HEHT 9 7-8 [221.93| fF®E 16059
125 6 703 HE BY 9 7-8 221.93 | fF= 16109




126 6 704 HEBY 9 7-8 1221.93 | fF=E 16309
127 7 101 HE B 7 1 [120.54 | ¥ 12687
128 7 102 HE B 7 1 [120.44 | fF=x 13520
129 7 103 HEB] 7 1 122.28 | iz 14141
130 7 104 HE BY 7 1 144.8 | = 14368
131 | 7 201 HEBY 7 2 |124.56 | fE=E 12556
132 | 7 202 HEBY 7 2 |124.56 | fI=x 13156
133 | 7 203 HEBY 7 2 |124.56 | fI=E 13556
134 7 204 HEBY 7 2 |145.41 | = 13656
135 7 301 HEBY 7 3 [124.56 | {1 12956
136 7 302 HE BY 7 3 [124.56 | {F= 13456
137 | 7 303 HEBY 7 3 [124.56 | frE 13756
138 | 7 304 HEBY 7 3 |145.41 | = 13856
139 [ 7 401 HEBY 7 4 |124.56 | f1=E 13356
140 | 7 402 FEHT 7 4 |124.56 | fI=E 13756
141 | 7 403 HEBY 7 4 |124.56 | fFE 13956
142 7 404 HE BY 7 4 [145.41 | k=2 14056
143 | 7 501 HEBY 7 5 [124.56 | frE 13956
144 | 7 502 HEBY 7 5 |124.56 | {2 14056
145 | 7 503 HEBY 7 5 |124.56 | {I=E 14156
146 | 7 504 FEHT 7 5 |145.41 | f¥=E 14256
147 | 7 601 HEB 7 6 |[124.56 | fI=E 13956
148 7 602 HE BY 7 6 [124.56 | 1Fx 14056
149 | 7 603 HEBY 7 6 |124.56 | 1= 14156
150 | 7 604 HEBY 7 6 |145.41 | fI= 14256
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